BLOCK

HINR = DCP * FD
HINR = 0

DCP = CONSTANT
FD = EXP ( ___ * LOGFD )
D= 1.

LOGFD = TABLE ( FDTAB, LOGT,
LOGFD = 0

FOTAB =

LOGT = LOGN ( TIME ) /
TIME = 1.

LOGT = D

HINR
BLOCK —

LOSS
LOOP
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Loop

HOUTR = DELAY 3 ( SHLR, DSHF )
HOUTR = 0
SHLR = *  * ( H - )/

SHIR = 0
DSHF = CONSTANT
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HOUTR
BLOCK

TE

BLOCK

TER = CONSTANT

TER = UEC * ( HINR - HOUTR ) /
YEC = CONSTANT
p

TE = TE + DT * TER

TE = ?

NEC(
LOOP|

¥ 5 CL - MCL - LPY
cL=1.
LPV = BMCL + PVPS -~ PVDC
BMCL = CONSTANT
PVPS = PVPS + DT * ( BDRUA ) / DA
PVPS = 0

MOFA = CONSTANT

ACDR = RCVR * ( NC )

RCVR = ( _ * BPH * RCW * RCW * RCW *
BPH = CONSTANT
RCW = CONSTANT

CTL = CONSTANT

BV = CONSTANT

CPL = CONSTANT

NC = CC * FIFGE (
NC = 1.

CC = CONSTANT
AVNEC = MAX ( NEC,
NEC = TE - CL

CON!TANT

BPH
|

NEC

LOOP PVPS

BLOCK

» AVNEC, AVNEC,

- NEC )

BDRUA = FIFGE ( MBFA, ACDR, ACDR, MBFA )

0
) [NC = DA * PV

CTL )/ (___*BV*CPL)

NEC
LbOP

PTION 1

JC/(RCH'CTL'CPL{]
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NEC =-1,

PVDC = PVOC - DT * ( LPVCR )
PVDC = 1.

LPVCR = LPV * EXP ( -
ELP = CUNSTANY

EVISC = TABLE ( EVTAB, BFTEMP,
EVTAB =
BFYEMP = -
BFTEMP = 32.
MTEMP = ( H =
MTEMP = 26.
STEMP = CONSTANT

*ELP *

PVDC

\ BLOCK

|PVRAT = PVOC / MCL'

[}

+ * ( MTEMP - )

)/ + STEMP

MCL = BMCL + ACLS
ACLS = SO / SA

SO = SO + DT * BORUA
SA = DA

DA = CONSTANT

S0 = 1.

MCL
BLOCK

LNVFU =
SCDIA =

___*LOGN (S0 ) -
EXP ( LNVFU )

WITHOUT CLOSURE

* DT / EVISC ) / DT v/ or

)
ronnr =

'

___ + BDRUAC /
___ + BDRUA
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NECC
LOOP
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LDOP

ACLC = MCLC - I.P\’C_

VoL = 1.
“$LPVC = BMCL + PVPSC - PVDCC

> PVPSC = PVPSC + DT * ( BORUAC ) / DA

Le v PVPSC = 0

PVPSC

ACDRC = RCVR
BLOCK » + ANCC

'—DANCC = ( LPVC / MCLC ) * NCC
> NCC = CC * FIFGE (
~ NCC = 1.

~»AVNECC = MAX { NECC, - NECC )
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:»NECC = TE - CLC

»BDRUAC = FIFGE ( MBFA, ACDRC, ACORC, MBFA )=

» AVNECC, AVNECC,

OPTION 1
) |ncC = DA * pvoc /

—

RCW*CTL*CPL)
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~ NECC = 1.

PVDCC
\ BLOCK

[pvratc = pvoce / meic]

&

\= PVOCC = 1.

™ LPVCRC = LPVC * ELP ( *ELP *
/ DT - LPVC / OT

= ""2BWCLC = BMCL + ACLSC

MCLC
P ACLSC = SOC / SA

BLOCK

0T/ BVISC ) == )

o

cLC
Loop

=8 > SOC = SOC + DT * BORUAC ;Skmmemassen:

» LNVFC =

___“LOGN (SoC ) -
'S scorac =

* EXP ( LNVFC )
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